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A) Study the following word problem:-

During the polio eradication campaign, 3,17,658
children were given the polio vaccine
In one District and 2,04,969 children in another.

Altogether, how many children got the vaccine ?

317658
+204969
3226021

Altogether, 5,22,627 children got the vaccine.

B) Solve the following problems.

1. In a certain election, 13, 47,048 women and 14,
29,638 men cast their votes. How many votes were
polled altogether?
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Ans.




2. If Surekhatai bought a tractor for 8, 07,957 and a
thresher for 32,609, how much money did she spend
altogether?

Ans.

3. A textile mill produced 17, 24,938 metres of cloth
last year and 23, 47,056 metres this year. What was the
total production for the two years?

Ans.



4. If the Government gave 34, 62,950 worth of
computers and 3, 26,578 worth of TV

Sets to the schools, what is the total amount it spent on
this equipment?

Ans.



